Bell Ringer

Solve. 6x + 8 2X + 36

Solve. %x - 4 =12



Solving Inequalities Notes

Goal: Isolate the variable just like with an equation.

Steps:

» Follow the same steps as when solving equations with
ONE exception
- when multiplying or dividing BY a negative, switch the

inequality symbol.

» Solutions are graphed on a number line
- Open circle for > and <; closed circle for 2 and <
- Shade in the direction that represent the solutions

Note: a negative answer does not mean you need to switch the
symbol.



Solve the inequality and graph the solution.
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rewrite so the variable is on the left
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For story problems: (1) identify the variable and (2) look for key

words that tell you which;nequality sign to use.

5. You have to earn 6000 points to advance. So far,
you've earned 4200 points. If you have 4 tries left, how many

points do you need to average on each try in order to advance?

p = points per try needed to advance

H200 +4p > (,00O
ip = |R00
\> 2 L{SO?Q-\P\'\"{;



7. Write an inequality for x.
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